
MATHS

BOOKS - MTG WBJEE MATHS (HINGLISH)

DEFINITE INTEGRALS

Wb Jee Workout Category 1 Single Option Correct Type

1.  equals

A. 

B. 20

C. 0

D. 

Answer: C

∫
π / 2

−π / 2

sin9 x cos5 xdx

1

20

1

330

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lU2Y6B7sQnmW


Watch Video Solution

2. The value of  is

A. 2

B. 0

C. 

D. 4

Answer: D

Watch Video Solution

∫
2

− 2
(x cos x + sinx + 1)dx

−2

3. Which of the following is the value of 

A. 

B. 

lim
n→ ∞

n

∑
r= 1

?
r3

r4 + n4

loge(1/2)
1
2

loge(1/2)
1
2

https://dl.doubtnut.com/l/_lU2Y6B7sQnmW
https://dl.doubtnut.com/l/_35yDlmPWQ7wy
https://dl.doubtnut.com/l/_34DmkDMJCxS6


C. 

D. 

Answer: C

Watch Video Solution

loge 2
1

4

loge 2
1

2

4. The value of  is equal to

A. 16

B. 8

C. 4

D. 1

Answer: D

Watch Video Solution

∫ ( )dx

π

2

π

6

1 + sin 2x + cos 2x

sinx + cos x

https://dl.doubtnut.com/l/_34DmkDMJCxS6
https://dl.doubtnut.com/l/_rGQIHNIKkdTp
https://dl.doubtnut.com/l/_8UIL2oywKlxE


5. If , then  equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

h(x) = ∫
x

0
sin4 tdt h(x + π)

h(x)

h(π)

h(x). h(π)

h(x) − h(π)

h(x) + h(π)

6. 

A. 0

B. 32

C. 30

D. 28

∫
16π

π

|sinx|dx =

https://dl.doubtnut.com/l/_8UIL2oywKlxE
https://dl.doubtnut.com/l/_4xHiFSyEM5rc


Answer: C

Watch Video Solution

7. For any value of  equals

A. 1

B. 2

C. 

D. 0

Answer: D

Watch Video Solution

n ∈ I, ∫
π

0

ecos2 x cos3[(2n + 1)x]dx

−1

8. If , then (a, b) can have the values∫
b

a

dx = 10
f(a + b − x)

f(x) + f(a + b − x)

https://dl.doubtnut.com/l/_4xHiFSyEM5rc
https://dl.doubtnut.com/l/_scHKJ1QHsg8l
https://dl.doubtnut.com/l/_5rPVMpAhv5px


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

a = 20, b = 40

a = − 5, b = 5

a = 10, b = 20

9. 

A. 

B. 2

C. 

D. 

Answer: B

∫
π

0

|cos x|dx

2π

2/π

π

https://dl.doubtnut.com/l/_5rPVMpAhv5px
https://dl.doubtnut.com/l/_xfiSMu0muklL


Watch Video Solution

10. The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
∞

0

dx

(x2 + 4)(x2 + 9)

π

60

π

20

π

40

π

80

11. If , then

A. 

B. 

I1 = ∫
π / 4

0

sin2 xdx and I2 = ∫
π / 4

0

cos2 xdx

I1 = I2

I1 < I2

https://dl.doubtnut.com/l/_xfiSMu0muklL
https://dl.doubtnut.com/l/_Xb08slGYTbmv
https://dl.doubtnut.com/l/_dWLdJE3wQxB7


C. 

D. 

Answer: B

Watch Video Solution

I1 > I2

I2 = I1 + π/4

12. The value of the integral ,is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π / 4

∫

0

dx
sinx + cos x

3 + sin 2x

loge 2

loge 3

loge 2
1

4

loge 3
1

4

https://dl.doubtnut.com/l/_dWLdJE3wQxB7
https://dl.doubtnut.com/l/_vTmFWV93Edo7
https://dl.doubtnut.com/l/_2YdN1pp0E0Ak


13.  equals

A. 0

B. 1

C. 

D. e

Answer: A

Watch Video Solution

∫
π / 4

−π / 4
dx

ex(x3 sinx)

e2x − 1

−1

14. If , then  equals

A. 

B. 

C. 

D. 

∫
x

0

f(z)dz = x + ∫
1

x

zf(z) ∫
2

1

f(x)dx

1 + x

log( )
2

3

log 3

log( )
3
2

https://dl.doubtnut.com/l/_2YdN1pp0E0Ak
https://dl.doubtnut.com/l/_1Ujt98vuYeKC


Answer: D

View Text Solution

15. If , then value of k equals

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫
π / 3

π / 6
dx =

√sinx

√cos x + √sinx

k

4

π

12

π

3

π

2

16. ∫
1

0

tan− 1(1 − x + x2)dx =

https://dl.doubtnut.com/l/_1Ujt98vuYeKC
https://dl.doubtnut.com/l/_PI1HIRKUALwu
https://dl.doubtnut.com/l/_nREPrIgY4I03


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

2

π

4

ln 2

− ln 2
π

2

17. Let . If ,

then possible value of k is:

A. 16

B. 8

C. 0

D. 

(F (x)) = , x > 0
d

dx

esin x

x
∫

4

1

2 dx = F (k) − F (1)
esin (x2 )

x

−16

https://dl.doubtnut.com/l/_nREPrIgY4I03
https://dl.doubtnut.com/l/_ysuEtmmSQvYQ


Answer: A

Watch Video Solution

18.  equals

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫
5π

−π

cot − 1(cot x)dx

∫
5π

0
cot − 1 cot xdx

∫
6π

0
cot − 1 cot xdx

3π2

19. If  are natural numbers, then  equals,

provided 

α, β ∫
π / 2

0

cosα x cos βxdx

α = β

https://dl.doubtnut.com/l/_ysuEtmmSQvYQ
https://dl.doubtnut.com/l/_KWgzM8iQZJ9Y
https://dl.doubtnut.com/l/_iVeHmc37dmjt


A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

π

2α+ 1

π

2α

π

2α− 1

20. The value of the integral

 equals

A. 

B. 

C. 

D. 

∫
4

− 4

[tan− 1( ) + tan− 1( )]dx
x

x4 + 1

x4 + 1
x

2π

3π

4π

π

https://dl.doubtnut.com/l/_iVeHmc37dmjt
https://dl.doubtnut.com/l/_ySudxkZHjFVx


Answer: C

Watch Video Solution

21.  equals

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

∫
2π

0

log( )dx
a + b secx

a − b secx

π(a + b)

a − b

π

2

(a2 − b2)
π

2

22. The value of the integral  is∫
π / 2

0

sin5 xdx

https://dl.doubtnut.com/l/_ySudxkZHjFVx
https://dl.doubtnut.com/l/_IkQNEYM0Alm3
https://dl.doubtnut.com/l/_4PrOHNDfcvwn


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4
15

8

5

8

15

4
5

23. Evaluate the following : 

A. 

B. 

C. 

D. 

∫
1

− 2

dx

x2 + 4x + 13

π

4

π

3

π

6

π

12

https://dl.doubtnut.com/l/_4PrOHNDfcvwn
https://dl.doubtnut.com/l/_Cu16vyZ2HyV4


Answer: D

Watch Video Solution

24. 

A. 0

B. 

C. 2

D. 1

Answer: D

Watch Video Solution

∫
π / 4

0

dx
1 + sin 2x

cos x + sinx

−1

25. Evaluate the following integral: ∫
π / 2

0

dx
1

5 cos x + 3 sinx

https://dl.doubtnut.com/l/_Cu16vyZ2HyV4
https://dl.doubtnut.com/l/_NrWNIPWfoRZm
https://dl.doubtnut.com/l/_dO41guPKFGkH


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

log(8 + √13) + log(8 − √34)

log( )
8 + √34

8 − √34

log( )
1

√34

8 + √34

8 − √34

√34 log(8 + √34)

26.  equals

A. 

B. 

C. 

D. 

Answer: A

lim (n → ∞){ }
1m + 2m + 3m + .... + nm

nm+ 1

1

m + 1

1

m

1

m + 2

1

m − 1

https://dl.doubtnut.com/l/_dO41guPKFGkH
https://dl.doubtnut.com/l/_tkDtHPjwofAL


Watch Video Solution

27. If  and  then (a)

(2)  (3)  (4) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I1 = ∫
3π

0

f(cos2 x)dx I2 = ∫
π

0

f(cos2 x)dx I1 = I2

I1 = 2I2 I1 = 5I2 I1 = 3I2

I1 = I2

3I1 = I2

I1 = 3I2

I1 = 5I2

28. 

A. 

∫
√3

0

dx
x tan− 1 x

(1 + x2)3 / 2

4 − π

4√3

https://dl.doubtnut.com/l/_tkDtHPjwofAL
https://dl.doubtnut.com/l/_1JKNiDXSyS5O
https://dl.doubtnut.com/l/_K4bYcS7G5GJJ


B. 

C. 

D. 

Answer: C

Watch Video Solution

π − 4

4√2

3√3 − π

6

4√2

4 − π

29. 

Watch Video Solution

∫
1

0
x2 tan− 1 xdx

30. 
 is a continuous function for all real values of 
 and satisfies


 Then 
 is equal to
 
 (b) 


(c) 
(d) none of these

A. 

f(x) x

∫
n+ 1

n

f(x)dx = ∀n ∈ I.
n2

2
∫

5

− 3
f(|x|)dx

19

2
35

2
17
2

19

2

https://dl.doubtnut.com/l/_K4bYcS7G5GJJ
https://dl.doubtnut.com/l/_uBsfddTAP4JX
https://dl.doubtnut.com/l/_Sbgx3hSoiBKR


Wb Jee Workout Category 2 Single Option Correct Type

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

35

2

17
2

1. The value of , where a,b,c,k are

constants, depends only on. . . .

A. a and k

B. a and b

C. a, b and c

D. k

∫
3

− 3
(ax + bx3 + cx + k)dx

https://dl.doubtnut.com/l/_Sbgx3hSoiBKR
https://dl.doubtnut.com/l/_nhq7314Ajl1u


Answer: D

Watch Video Solution

2. If then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I =

1

∫

0

dx
1

1 + xπ / 2

loge 2 < I < π/4

loge 2 > I

I = π/4

I = loge 2

3. The value of the integral  is equal to∫
π / 2

0
dx

1

1 + (tanx)
101

https://dl.doubtnut.com/l/_nhq7314Ajl1u
https://dl.doubtnut.com/l/_0uHSAIfFWSK7
https://dl.doubtnut.com/l/_vOvQlNpO4o3H


A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

6

π

8

π

4

4. The value of the integral  is equal to

A. 0

B. 

C. 

D. 1

Answer: C

∫
2

− 2
(1 + 2 sinx)e |x |dx

e2 − 1

2(e2 − 1)

https://dl.doubtnut.com/l/_vOvQlNpO4o3H
https://dl.doubtnut.com/l/_7wddGMDNJ0aF


Watch Video Solution

5. Let  denote the greatest integer less than or equal to x, then the

value of the integral  is equal to

A. 3

B. 2

C. 

D. 

Answer: A

Watch Video Solution

[x]

∫
1

− 1

(|x| − 2[x])dx

−2

−3

6. 

A. 

∫
[x ]

0

dx
4x

4 [x ]

3[x]

2 log 2

https://dl.doubtnut.com/l/_7wddGMDNJ0aF
https://dl.doubtnut.com/l/_8JuJ0ZhK7SaV
https://dl.doubtnut.com/l/_r4PlpZGZ3HFl


B. 

C. 

D. 

Answer: A

Watch Video Solution

[x]

log 2

3[x]log 2

6[x]log 2

7. The value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
sin2 x

0
sin− 1 √tdt + ∫

cos2 x

0
cos − 1 √tdt

π

3

π

2

π

π

4

https://dl.doubtnut.com/l/_r4PlpZGZ3HFl
https://dl.doubtnut.com/l/_S1X6W7l2txVy


8. If , then 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫
π / 4

0
sec2 θ sin θdθ = ∫

λ

0

dx

√x + √x + λ
λ =

9

16

9

25

16

25

25

16

9. Evaluate 

A. 0

B. 

C. e

∫
− 5

− 4
e (x+ 52 )dx + 3∫

2 / 3

1 / 3
e

9(x− )
2
dx2

3

e− 1

https://dl.doubtnut.com/l/_S1X6W7l2txVy
https://dl.doubtnut.com/l/_jagiI5hZ6tUb
https://dl.doubtnut.com/l/_cmOT2zZ3hz3x


D. 

Answer: A

Watch Video Solution

e2

10. 

A. 2

B. 

C. 

D. 1

Answer: B

Watch Video Solution

lim
x→ ∞

∫
x

0
xet

2 −x2
dt

!
2

−
1
2

https://dl.doubtnut.com/l/_cmOT2zZ3hz3x
https://dl.doubtnut.com/l/_5gRi0xub7vgW


11. If  then 


A. 

B. 3

C. 4

D. 5

Answer: D

Watch Video Solution

∫
4

− 1
f(x)dx = 4 and ∫

4

2
(3 − f(x))dx = 7,

∫
2

− 1

f(x)dx =

−2

12.  is equal to

A. 0

B. 1

C. 4

∫
2π

0
(sinx + |sinx|)dx

https://dl.doubtnut.com/l/_MW7u5n7fE8Fz
https://dl.doubtnut.com/l/_DoFRjiuGydLI


D. 8

Answer: C

Watch Video Solution

13. , equals where 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
3

1
f(x)dx f(x) = {

2x + 1,  when 1 ≤ x ≤ 2

x2 + 1,  when 2 < x ≤ 3

34
3

23

3

33

4

43
3

https://dl.doubtnut.com/l/_DoFRjiuGydLI
https://dl.doubtnut.com/l/_kevbubUxyriF


Wb Jee Workout Category 3 One Or More Than One Option Correct Type

14. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0
=

dx

(x − a)(x − b)

log( )
1

a − b

b − ab

a − ab

log( )
a − ab

b − ab

log( )
1

2ab

a + ab

b + ab

tan− 1( )
1

ab

a − ab

b − ab

1. The value of the integral  is equal to

A. 4

B. 8

∫
5

1

[|x − 3| + |1 − x|]dx

https://dl.doubtnut.com/l/_Vvr0WiM5RQ3g
https://dl.doubtnut.com/l/_XQpwuXzcszEG


C. 12

D. 16

Answer: C

View Text Solution

2. The value of  equals, where  denote the greatest

integer function

A. 11005

B. 11025

C. 15625

D. None of these

Answer: B

Watch Video Solution

∫
15

0
[x]

3
dx [. ]

https://dl.doubtnut.com/l/_XQpwuXzcszEG
https://dl.doubtnut.com/l/_etA3l3n4tUfS


3. 

then which of the following is/are ture?
 
(b) 
 
 (d)

`I_3

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

IfI1 = ∫
1

0
2x, I2 = ∫

1

0
2x ^ 3dx, I3 = ∫

22

1
^ x2dx, I4 = ∫

2

1
2x ^ 3dx,

I1 > I2 I2 > I2 I3 > I4

I1 > I2

I1 < I2

I3 < I4

I3 = I4

4. If , then value of  equals

A. 

∫
∞

0

e−axdx =
1

a
∫

∞

0

xme−axdx

( − 1)
m
m !

am+ 1

https://dl.doubtnut.com/l/_tUjOCO57e0Ka
https://dl.doubtnut.com/l/_CbTAKPaPxijy


B. 

C. 

D. 

Answer: D

View Text Solution

( − 1)m(m − 1)

am

m !

am

m !

am+ 1

5. Let  be a function satisfying  with  and 

 be the function satisfying . Then the value of

integral  is equal to (A)  (B)  (C)  (D)

none of these

A. 

B. 

C. 

D. None of these

f(x) f' (x) = f(x) f(0) = 1

g(x) f(x) + g(x) = x2

∫
1

0
f(x)g(x)dx

e − 2

4

e − 3

2
e − 4

2

e − 3

2

e2 − 3

2

e2 − 2

2

https://dl.doubtnut.com/l/_CbTAKPaPxijy
https://dl.doubtnut.com/l/_ydnF5tkANXR6


Answer: B

Watch Video Solution

6.  equals

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫
∞

0
dx, ∀n > 1

1

1 + xn

2∫
∞

0

dx
1

1 + x

∫
∞

− ∞

dx
1

1 + xn

∫
oio

1

dx

(xn − 1)
1 /n

∫
1

0
dx

1

(1 − xn)
1 /n

7. If  where ,

then  equals, where 

f(x) = p(x)q(x), p(x) = √cos x, q(x) = log( )
(1 − x)

1 + x

∫
b

a

f(x)dx a = − 1/2, b = 1/2

https://dl.doubtnut.com/l/_ydnF5tkANXR6
https://dl.doubtnut.com/l/_4yPASylWiXAq
https://dl.doubtnut.com/l/_s8sZxle2ZrqI


A. 

B. 

C. 1

D. 0

Answer: D

Watch Video Solution

2∫
1 / 2

0

p(x)q(x)dx

∫
b

0

p(x)q(x)

8.  is

A. rational

B. irrational

C. 0

D. 

Answer: A::C::D

∫
π

0

dx
cos x

√4 + 3 sinx

∫
1

− 1
xdx

https://dl.doubtnut.com/l/_s8sZxle2ZrqI
https://dl.doubtnut.com/l/_E2sjM7z67RPS


Watch Video Solution

9. A continuous and differentiable function f satisfies the condition,

 for all real x. Then

A. f is monotonic increasing 

B. f is monotonic decreasing 

C. f is non monotonic

D. the graph of  is a straight line

Answer: A::D

View Text Solution

∫
x

0
f(t)dt = f 2(x) − 1

∀x ∈ R

∀x ∈ R

y = f(x)

10. If , then

A. 

I1 = ∫
π / 4

0
x40 sin10 xdx, I2 = ∫

π / 4

0
x sinxdx

I1 < I2

https://dl.doubtnut.com/l/_E2sjM7z67RPS
https://dl.doubtnut.com/l/_XGKO8wxVmz2Z
https://dl.doubtnut.com/l/_Yiq1E9P1NdWO


B. 

C. 

D. 

Answer: A::B

View Text Solution

I2 = (1 − π/4)
1

√2

I1 > I2

I2 = ( − 2)
1

√2

π

4

11. If  


 then

A. 

B. 

C. 

D. 

Answer: A::B::C::D

I1 = ∫
π / 4

0

(tanx)cos x
dx, I2 = ∫

π / 4

0

(cot x)tan x
dx

I3 = ∫
π / 4

0

(tanx)tan x
dx, I4 = ∫

π / 4

0

(cot x)cot x
dx

I1 < I3

I2 < I4

I1 < I4

I3 < I2

https://dl.doubtnut.com/l/_Yiq1E9P1NdWO
https://dl.doubtnut.com/l/_PBZ1LGeboEGa


View Text Solution

12. If , then

A. 

B. A and B both are rational

C. A and B both are irrational

D. A is period of 

Answer: A::C

Watch Video Solution

A = ∫
π

0

dx and B = ∫
π

0

dx
sinx

sinx + cos x

sinx

sinx − cos x

A = B

|sinx|

13. Let the function f and g be integrable on every interval and satisfy

the following conditions : 

(i) f is odd, g is even function (ii)  


Then which of the following is/are true?

g(x) = f(x + 5)

https://dl.doubtnut.com/l/_PBZ1LGeboEGa
https://dl.doubtnut.com/l/_n5iLEnhJtbCF
https://dl.doubtnut.com/l/_xiSYSvt4hx0Y


A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

f(x − 5) = g(x)

f(x − 5) = − g(x)

∫
5

0
f(t)dt = ∫

5

0
g(5 − t)dt

∫
5

0
f(t)dt = − ∫

5

0
g(5 − t)dt

14. If , then possible values

of A and B are

A. 

B. 

C. 

D. 

∫
α

0
= + B(α ≠ 0)

dx

1 − cosα cos x

A

sinα

A = , B = 0
π

2

A = , B =
π

4

π

4 sinα

A = , B =
π

6

π

sinα

A = π, B =
π

sinα

https://dl.doubtnut.com/l/_xiSYSvt4hx0Y
https://dl.doubtnut.com/l/_SQWyRLKUcUkE


Answer: A::B

View Text Solution

15. Let  


then 

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

f(x) = ∫
x

0

dt(x > 0),
et

t

e−a[f(x + 1) − f(1 + a)] =

∫
x

0
dt

et

(t + a)

∫
x

1
dt

et

t + a

e−a∫
x+a

1 +a

dt
et

t

∫
x

0
dt

et−a

(t + a)

16.  is not equivalent to∫
1

− 1
(x − [x])dx

https://dl.doubtnut.com/l/_SQWyRLKUcUkE
https://dl.doubtnut.com/l/_iSpZJeTcizSb
https://dl.doubtnut.com/l/_fhtb9q8wGab0


We Jee Previous Years Questions Category 2 Single Option Correct Type

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

∫
1

− 1
{x}dx

∫
2

0
{x}dx

∫
1

− 1
[x]dx

1. The value of the integral  is

equal to

A. 0

B. 

C. 

∫
1

− 1

{ + }dx
x2013

e |x | (x2 + cos x)

1

e |x |

1 − e− 1

2e− 1

https://dl.doubtnut.com/l/_fhtb9q8wGab0
https://dl.doubtnut.com/l/_21kCvh1ya0gE


D. 

Answer: D

Watch Video Solution

2(1 − e− 1)

2. The value of  is

equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I = ∫
π / 4

0

(tan ⋅n+ 1 x)dx + ∫
π / 2

0

tann− 1( )dx
1

2
x

2

1

n

n + 2

2n + 1

2n − 1

n

2n − 3

3n − 2

https://dl.doubtnut.com/l/_21kCvh1ya0gE
https://dl.doubtnut.com/l/_pUsQfPlopMAe


3. The sum of the series

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

25C0 + 25C1 + 25C2 + … + 25C25
1

1 × 2

1

2 × 3

1

3 × 4

1

26 × 27

227 − 1
26 × 27

227 − 28
26 × 27

226 − 1
52

( )
1

2
226 + 1
26 × 27

4. The value of the integral  is

A. 

B. 

C. 

∫
2

1
ex(loge x + )dx

x + 1

x

e2(1 + loge 2)

e2 − e

e2(1 + loge 2) − e

https://dl.doubtnut.com/l/_lIJAlmhENT2f
https://dl.doubtnut.com/l/_PmGYO81FFOlF


D. 

Answer: C

Watch Video Solution

e2 − e(1 + loge 2)

5. The value of  is

A. 1

B. 

C. 2

D. 

Answer: A

Watch Video Solution

lim
x→ 0

∫
x2

0 cos t2dt

x sinx

−1

loge 2

https://dl.doubtnut.com/l/_PmGYO81FFOlF
https://dl.doubtnut.com/l/_6LHq6Dk91ztf


6. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 ⋅n C0 + 22 ⋅ + 23 ⋅ + ... + 2n+ 1 ⋅ =
.n C1

2

.n C2

3

.n Cn

n + 1

2n+ 1 − 1

n + 1

3n+ 1 − 1

n + 1

3n − 1
n

2n − 1
n

7. If , then  is

A. 

B. 

C. 

D. 

f(x) = {
2x2 + 1, x ≤ 1

4x3 − 1, x > 1
∫

2

0
f(x)dx

47/3

50/3

1/3

47/2

https://dl.doubtnut.com/l/_P1hrKF8z6bk4
https://dl.doubtnut.com/l/_2UaY1Vvqwerq


Answer: A

Watch Video Solution

8. If , then  lies in the interval

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I = ∫
2

0
ex

4
(x − α)dx = 0 α

(0, 2)

( − 1, 0)

(2, 3)

( − 2, − 1)

9. The value of  islim
x→ 2

∫
x

2

dt
3t2

x − 2

https://dl.doubtnut.com/l/_2UaY1Vvqwerq
https://dl.doubtnut.com/l/_gn3F4LRmrQQ6
https://dl.doubtnut.com/l/_te9YokZvHHpm


A. 10

B. 12

C. 8

D. 16

Answer: B

Watch Video Solution

10. Let f(x) denote the fractional part of a real number x. Then the value

of  is

A. 

B. 0

C. 

D. 

∫
√3

0

f(x2)dx

2√3 − √2 − 1

√2 − √3 + 1

√3 − √2 + 1

https://dl.doubtnut.com/l/_te9YokZvHHpm
https://dl.doubtnut.com/l/_FOqPTm5M1ohb


Answer: C

Watch Video Solution

11. Let 
 be a continuous function which satisfies 


Then the value of 
is______

A. 0

B. 2

C. 5

D. 3

Answer: C

Watch Video Solution

f :R
→
R f(x) =

∫
x

0
f(t)dt. f(1n5)

12. lim
n→ ∞

=
√1 + √2 + … + √n − 1

n√n

https://dl.doubtnut.com/l/_FOqPTm5M1ohb
https://dl.doubtnut.com/l/_UITYGbkIM1lY
https://dl.doubtnut.com/l/_xOMU7UdkT6IH


A. 

B. 

C. 2//3`

D. 0

Answer: C

Watch Video Solution

1/2

1/3

13.  is equal to

A. 1

B. 0

C. 2

D. none of these

Answer: B

∫
1

0
log( − 1)dx

1

x

https://dl.doubtnut.com/l/_xOMU7UdkT6IH
https://dl.doubtnut.com/l/_ivuotQbJhlDS


Watch Video Solution

14. Estimate the absolute value of the integral 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
19

10
dx

sinx

1 + x8

|I| < 10− 9

|I| < 10− 7

|I| < 10− 5

|I| > 10− 7

15.  ,where  are

integral and fractionalparts of . Then  is equal

to

A. 

LetI1 = ∫
n

0

[x]dx and I2 = ∫
n

0

{x}dx [x] and {x}

x and n ∈ N − {1}
I1

I2

1

n − 1

https://dl.doubtnut.com/l/_ivuotQbJhlDS
https://dl.doubtnut.com/l/_tVT70TjQspuo
https://dl.doubtnut.com/l/_OPnzHhVtchkQ


B. 

C. n

D. 

Answer: D

Watch Video Solution

1

n

n − 1

16. The value of the integral  lies in the integral

A. is less than 1

B. is greater than 1

C. is less tha or equal to 1

D. lies in the closed interval 

Answer: D

Watch Video Solution

1

∫

0

ex
2
dx

[1, e]

https://dl.doubtnut.com/l/_OPnzHhVtchkQ
https://dl.doubtnut.com/l/_zQoFXGhOv9M8


17. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1000

0
ex− [x ]dx

e100 − 1

100

e100 − 1

e − 1

100(e − 1)

e − 1

100

18. If  and , then the value

of  is

A. 

B. 

M = ∫
0

dx

π

2 cos x
x + 2

N = ∫
0

dx

π

4 sinx cos x

(x + 1)2

M − N

π

π

4

https://dl.doubtnut.com/l/_zQoFXGhOv9M8
https://dl.doubtnut.com/l/_1Cd8W1NJHf0K
https://dl.doubtnut.com/l/_4kM6N8dygarF


C. 

D. 

Answer: D

Watch Video Solution

2

π − 4

2

π + 4

19. The value of the integral  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I = ∫
2014

1 / 2014
dx

tan− 1 x

x

log 2014
π

2

log 2014
π

2

π log 2014

log 2014
1
2

https://dl.doubtnut.com/l/_4kM6N8dygarF
https://dl.doubtnut.com/l/_8Hal5faXXSt2
https://dl.doubtnut.com/l/_SKgKxm4r7hQK


20. Let  Then

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

I = ∫
π / 3

π / 4

dx.
sinx

x

≤ I ≤ 1
1

2

4 ≤ I ≤ 2√30

≤ I ≤
√3

8

√2

6

1 ≤ I ≤
2√3

√2

21. The value of , is

A. 1

B. 

C. e

D. 

I = ∫(π/2)5π / 2
dx

etan − 1 ( sin x )

etan − 1 ( sin x ) + etan − 1 ( cos x )

π

π/2

https://dl.doubtnut.com/l/_SKgKxm4r7hQK
https://dl.doubtnut.com/l/_qJuDkRNqtJwQ


Answer: B

View Text Solution

22. The value of  is

A. 

B. 

C. 

D. e

Answer: C

Watch Video Solution

lim
n→ ∞

[sec2 + sec2 + …. + sec2 ]
1

n

π

4n

2π

4n
nπ

4n

loge 2

π

2

4
π

23. The value of the integratio ∫
π / 4

−π / 4
(λ|sinx| + + γ)dx

μ sinx

1 + cos x

https://dl.doubtnut.com/l/_qJuDkRNqtJwQ
https://dl.doubtnut.com/l/_4mFJolWebfpr
https://dl.doubtnut.com/l/_Bs9gbe78ZkGv


A. is independent of  only

B. is independent of  only

C. is independent of  only

D. depends on 

Answer: B

View Text Solution

λ

μ

γ

λ, μ and γ

24.  is equal to

A. 

B. 

C. 

D. 

Answer: A

lim
x→ 0

[∫
y→ a

esin2 tdt − ∫
x+y→ a

esin2 tdt]
1

x

esin2 y

e2 sin y

e | sin y |

ecosec 2y

https://dl.doubtnut.com/l/_Bs9gbe78ZkGv
https://dl.doubtnut.com/l/_k62G6hvfbK1C


Watch Video Solution

25. The value of the integral  is

equal to

A. 0

B. 

C. 

D. 

Answer: D

View Text Solution

∫
1

− 1

{ + }dx
x2015

e |x | (x2 + cos x)

1

e |x |

1 − e− 1

2e− 1

2(1 − e− 1)

26. Let  denote the greatest integer which is less than or equal to a.

Then the value of the integral  is

[a]

∫
π / 2

−π / 2
[sinx cos x]dx

https://dl.doubtnut.com/l/_k62G6hvfbK1C
https://dl.doubtnut.com/l/_dh9smPsfvOVj
https://dl.doubtnut.com/l/_12W86ELbLIbG


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

2

π

−π

−
π

2

27. The value of the integral  is equal to

A. 

B. 

C. 

D. None of these

∫
π / 2

π / 6
dx

(sinx − x cos x)

x(x + sinx)

loge( )
2(π + 3)

2π + 3√3

loge

⎛
⎜
⎜
⎝

⎞
⎟
⎟
⎠

π + 3

2(2π + 3√3)

loge( )
2π + 3√3

2(π + 3)

https://dl.doubtnut.com/l/_12W86ELbLIbG
https://dl.doubtnut.com/l/_3mH72o1IjFPE


Answer: D

Watch Video Solution

28. If 
 denotes the greatest integer less than or equal to 
 then

find the value of the integral 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

[x] x,

∫
2

0
x2[x]dx.

5

3

7
3

8

3

4
3

29. If , then for any  is equal tof(x) = ∫
x

− 1

|t|dt x ≥ 0, f(x)

https://dl.doubtnut.com/l/_3mH72o1IjFPE
https://dl.doubtnut.com/l/_48RrcFuXZE5t
https://dl.doubtnut.com/l/_UoDC0DJtmUWq


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 − x2)
1

2

1 − x2

(1 + x2)
1

2

1 + x2

30. Evaluate:


A. 

B. 

C. 

D. 

Answer: B

∫
100π

0
√(1 − cos 2x)dx.

I = 0

I = 200√2

I = π√2

I = 100

https://dl.doubtnut.com/l/_UoDC0DJtmUWq
https://dl.doubtnut.com/l/_2QArEP9bofz6


We Jee Previous Years Questions Category 3 One Or More Than One

Option Correct Type

Watch Video Solution

1. Let  Then

A. f(x) is continuous at x = 1

B. f(x) is not continuous at x = 1

C. f(x) is differentiable at x = 1

D. f(x) is not differentiable at x = 1

Answer: A::D

Watch Video Solution

f(x) = {
∫
x

0 |1 − t|dt, x > 1

x − , x ≤ 11
2

https://dl.doubtnut.com/l/_2QArEP9bofz6
https://dl.doubtnut.com/l/_bLeGq3I7ZwKC


2. If , then 

A. a real number

B. 1

C. 0

D. does not exist

Answer: A::B

Watch Video Solution

φ(t) = {
1,  for 0 ≤ t < 1

0, otherwise

∫
3000

− 3000

(
2016

∑
r ' = 2014

φ(t − r' )φ(t − 2016))dt =

3. Let f be a non constant continuous function for all . Let f

satisfy the relation  for some . Then 

 is equal to

A. a real number

x ≥ 0

f(x)f(a − x) = 1 a ∈ R+

I = ∫
a

0

dx

1 + f(x)

https://dl.doubtnut.com/l/_8YN5bdxB1XRp
https://dl.doubtnut.com/l/_cCGdWfdz5CQY


B. 

C. 

D. 

Answer: C

Watch Video Solution

a

4

a

2

f(a)

4. Let  then

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

I = ∫
1

0
dx,

x3 cos 3x

2 + x2

− < I <
1

2

1

2

− < I <
1

3

1

3

−1 < I < 1

− < I <
3

2

3

2

https://dl.doubtnut.com/l/_cCGdWfdz5CQY
https://dl.doubtnut.com/l/_xsFOnTTZLut5


5. Let  If  for all ,

then

A.  are in G.P

B.  are in A.P

C.  are in H.P

D.  are in A.P

Answer: B::D

View Text Solution

In = ∫
1

0
xn tan− 1 xdx. anIn+ 2 + bnIn = cn n ≥ 1

a1, a2, a3

b1, b2, b3

c1, c2, c3

a1, a2, a3

https://dl.doubtnut.com/l/_xsFOnTTZLut5
https://dl.doubtnut.com/l/_cW907w1nTOxK

